[bookmark: _GoBack]1, Answer: Frank has a comparative advantage in pizzas (the opportunity cost is 1 pizza costs 1 wing forgone compared to 3 wings for Grace).  Frank increases pizza by 5 and sells them for 10 wings.  The movement from point a to point b reflects the reduction of Frank’s wing production by 5 and increased pizza production by 5.  The move from point b to c reflects the trade of 5 pizzas for 10 wings (sell 5 pizzas for 10$, buy 10 wings with that $10).  Note the “exchange ratio” of wings to pizza of 2 wings for 1 pizza is the reciprocal of the price in dollars $5/$10 = 1/2 =Pw/Pp.  The net gain is therefore 10 – 5 = 5 wings as the gains from trade.
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This problem illustrates the point that Frank cannot move beyond the PPF (PPC) with production, but Frank can move beyond it with specialization and trade (under favorable exchange rates). 


2, Answer
Grace reduces pizza production by 5 and produces 15 more wings (green arrows on graph).  Since she wants to consume 5 pizzas (as before), she sells 10 of  those wings for $10 and spends that $10 on 5 pizzas (blue arrow).  She then can consume the additional wings: 5 more than before; her total consumption per day after specialization and trade is 5 pizzas and 20 wings, whereas before it was 5, pizzas and 15 wings.  I think she can stop eating now.
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Note as well that even though Grace wants to keep eating 5 pizzas, she reduces the amount of pizzas she produces, because her comparative advantage in wings means she can have more of both if she completely specializes in wings and then trades to meet whatever consumption combination she prefers.  So even though someone once said “there ain’t no such thing as a free pizza” (or was that “wing”?:), she can expend some effort specializing and then get more of the goods she wants though trade.  Under the assumption of constant opportunity costs, complete specialization yields the maximum consumption.
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